
−2 4 𝑦 = 4

𝑏 𝐶 𝑎 > 0

𝐶 𝐵 −2 𝑥 1

𝑦 −2 𝐵 𝐵

𝐴

𝑓′(𝑥) = −3𝑥2 + 4𝑥 − 1 𝑥 = 2 𝑓′(𝑥)

𝑓′(2) = 0 𝑓′(2) = −3 · 22 + 4 · 2 − 1 = −12 + 8 − 1 = −5 𝑓′(2) ≠ 0

𝑐(𝑥) 800

𝑐(𝑥) = 800
−50𝑥 + 1800 = 800 ⇔ 
−50𝑥 = −1000 ⇔ 
50𝑥 = 1000 ⇔ 
𝑥 = 20

2020 800

−12% 0.88

𝑓(𝑥) = 2 100 000 · 0.88𝑥

𝑥 𝑓(𝑥)

50% 40 50%

40 30 40%



 

10𝑥 + 20𝑦 = 1000 90𝑥 − 30𝑦 = 600

𝑦 = −0.5𝑥 + 50 𝑦 = 30𝑥 − 20 𝑦

−0.5𝑥 + 50 = 3𝑥 − 20

3.5𝑥 = 70 0.5𝑥 20

𝑥 = 20 𝑥

𝑦 = 40 𝑥

 

𝐺 = 𝑦 ·
1 − (1 + 𝑟)−𝑛

𝑟

1.0714%

 



 

 

 

𝑎 𝑏



 𝑥 = 150 𝐶(𝑥)

𝐶(150) = 80 · 150 + 40000 = 52000

150 52000𝑘𝑟

 

𝐴(160; 52800), 𝐵(1000; 120000)

𝐶(𝑥) = 𝑅(𝑥)

80𝑥 + 40000 = −0.25𝑥2 + 370𝑥 ⟺ 
0.25𝑥2 − 290𝑥 + 40000 = 0 ⟺ 

𝑥 =
−(−290) ± √(−290)2 − 4 · 0.25 · 40000

2 · 0.25
=

290 ± 210

0.5
= {

290 + 210

0.5
= 1000

290 − 210

0.5
= 160   

𝑥 = 160 ∨ 𝑥 = 1000

𝐶(𝑥) 𝑅(𝑥)

 𝑂(𝑥) = 𝑅(𝑥) − 𝐶(𝑥) = −0.25𝑥2 + 370𝑥 − (80𝑥 + 40000) = −0.25𝑥2 + 290𝑥 − 40000

𝑥 ∈ [0; 1300] 𝑂′(𝑥) = −0.5𝑥 + 290 𝑂′(𝑥) = 0

−0.5𝑥 + 290 = 0 ⇔ 0.5𝑥 = 290 ⇔ 𝑥 =
290

0.5
⇔ 𝑥 = 580

𝑂′′(𝑥) = −0.5 𝑥 = 580

𝑂(580) = 44100𝑘𝑟



 𝑓(𝑥, 𝑦) = 20𝑥 + 35𝑦

 

𝑃(3000; 9000),   𝑄(3000; 10000),   𝑅(6000; 10000),   𝑆(6000; 6800),   𝑇(5200; 6800)

𝑓(3000; 9000) = 375000 
𝑓(3000; 10000) = 410000 
𝑓(6000; 10000) = 470000 
𝑓(6000; 6800) = 358000 
𝑓(5200; 6800) = 342000

𝑥 = 5200 𝑦 = 6800

 𝑛 = 200, 𝑝 = 0.22 𝑥 = 49

1 − binomCdf(200,0.22,49) = 0.173357

50

17.33%

 0.251 · 1737 = 436 99%

22%

22%



 

 

𝑝 5% 0%

 𝑓′(𝑥) = −3𝑥2 + 24𝑥
𝑓(7) = −73 + 12 · 72 + 17 = 262 
𝑓′(7) = −3 · 72 + 24 · 7 = 21

𝑡 = 21 · (𝑥 − 7) + 262 = 21𝑥 + 115

 𝑓(𝑥) = 𝑡 −𝑥3 + 12𝑥2 + 17 = 21𝑥 + 115

𝑓(−2) 73 𝑃
𝑃(−2; 73)

                                                           
1 På sidste side er der indsat skærmbillede af Pivottabellen fra Excel. 




